INVERSE TRIGONOMETRIC FUNCTIONS
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ONE MARK QUESTIONS

Find the principal value of the following:
-1, 1 -1,.71 -1,.71 -1,_ -17_ 2
a) sin (\/E) b) cos (ﬁ) C) tan (\/5) d) cosec™(—2) e)sec™( \/5)
Find the value of the following:
a) sin‘l(sin%n) b) cos~1(cos 13?”) c) tan_l(tan%n) d) cosec‘l(cosecg) e)
ec‘l(sec%ﬂ).
Evaluate the following:
a) sin E —sin™! (_71)} b) sin G cos™t i) c) tan% (cos‘1 E).

5 3
. 13 112
Evaluate: cos (sm 124 cos™? E)'

Show that an™(v/x) —_COS—l(l x)

1+

FOUR MARKS QUESTIONS

Vi+x2 + v1-x2

Prove that tan™! { } LA cos 1x2

V14+x2 — V1—x2
41 12 1 _43
Prove that tan 1Z+tan 16=5cos 15.

b+1

Prove that cot ™1 (C;_b) + cot™1 (%) + cot™1 (CC“T“) = 0. (NCERT EXEMPLAR)

13 13 .8
Prove that tan 12+ tan™ 1= — tan 1 = = Z.
4 5 19 4

4 12 33
Prove that cos™' =+ cos 1= = cos™ 1 =.

5 13 65
Solve for x: sin™1(1 — x) — 2sin"1x = g

If cos™?! =
b a? ab

Prove that tan (% +2cos™ %) + tan (— —~cos™ %) =2 (CBSE 2010, 2013)

) e (55) = %

Solve for x: tan™1! ( ) + ta (x—“) =Z
xX— +2 4

Solve for x;: cos™! (

2 2
g +cos™1Z = 9, then prove that X2 os + Z_Z = sin?6. (NCERT EXEMPLAR)



